Check answers,please.

Advanced Algebra 2 1°* semester final review #2 2012

4 :_7+ i
1. Solve for z: ﬂf—¥

Z%Vha erly'aompletatthe square for
+10ax 256\:"

3. Is this function linearly related?

23] Same Slope

1351 =\ {near relahpnship

4.The values in the table are linearly related.
_Answer the following questions: H = C
X y | a)is A>B?

536 | 2 b)lsB>A°b{S R=I4

646 | A |[c)isA=B?

756 | 10 |d)A+B="?
866 | B Q‘O

5.Write the equation of the line that contains
(0,2) and (3,0),in standard form.
AX+3

po—

6. A is directly proportional to the square root

of B. If A=10 when B=25, Find B when A is 4.
7. Find the least squares regression line and
use it to estimate the y value when x=10.5
Round to 4 places after the decimal.

X 0 2 3 6 7 9 12

y 14 |19 |22 |26 |26 |32 |38
Y=I180BX+I4.7SQ%F

8. Solve and graph <
4x+5>1 and 3=-T+2x =I|

9. Solve for x [3x -1/ <9 :gf.)( <\o

10. Graph —5— 3] 3

11. How many solutions does this system
y=3x+35

navez{”" """ Mo Soluchons

12. |3—?1|= 8
s \r

3
13. Graph y > Ix -1

7’
14. The Lenc family is going to Taco-Shmaco
for tacos and sodas. Write an inequality to
represant how many sodas they can buy if
soda costs $1.85 each and tacos are $2.20

each. They only have $15 to spend. -SS <|S- Q JOT

[.&S

J'x +3y=6 N
15. Graph the solution
2x-y=z12

~

16. Using Cramer’s Rule to solve the following
system. What would D_ be?

x+y+z=5 D%__: __D\

x—y+2z=2

x+y=6

17. How many solutions does thi !

Have? J'3x+y—3 =0 lon€ Solb\"hvr\ I
|5x=2y+8

18. Four shirts and 3 jackets cost $313.
While five jackets and 2 shirts cost 19
How much does each jacket cost?

19. Find three ordgred pal thatsatl
s 1 (00),0,2) (3, :;)

Py
RS

20. Find an ordered pair that satisfies this

y=-3x-1 (Q 3) Gq

“3xtyss e ,\,\. " S')\Q(LOA ro\jmn.
k=22s:

22. What are the zeroes of
fy =322 —13x-10 X=

23. Find the x-intercepts,

oGy (2,0) and(-3,0)

system. {

21.Solve k2 +625=0

S orx="%

S *\ <)<$5 24, Use the quadratic formula to solve.

Round to nearest tenths. 3x% —4x =3 53 ')—l g}

25. Find the sum of the first 100 terms of the
ias 20+16+12+8+... ——
serias 20+16+12+8+ SDO_ 'ﬁgw

1-3i
26. When 5 is putin at+bi form, whatis
+1i
the value of a? 0\" ‘

27. How many real solutions are there for,

< +3x+10=0 ND Mea Solhons
28. Find thesoluhonfor 2 0>
X< ar )<

29.Simplify: (5+ 6i)— ”(4 50)

~311bc



